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[1] #2PCB 79 %0.8 %2.4
[1-1]E/ 7o 7 ==/ 7.1 0.02 0.06
[12]YZvobe7 =M 29 0.1 0.4
[1-3] RV Zom b7 ==L 21 0.1 0.3
[1-4]7 FF 7B = =)L 11 0.2 0.5
[1-4-11 27T F—PCBD 9 5 3344-T T r7nub 7 == (#77) tr(0.06) 0.03 0.08
[1-4-21 275 F—PCBD H 5 344,57 hT7unt 7=/, (#81) nd 0.02 0.04
[1-5] =% 7un b7 ==L 6.7 0.1 0.4
[1-5-11 277 F—PCBD H 523344 F a7 =)L (#105) 0.36 0.02 0.06
[1-52] 275 F—PCBD 5 5 234452 Zr7un b7 =L (#114) tr(0.02) 0.02 0.05
[1-5-3] 277 F—PCBD H 5 23445 F7unt 7=/ (#118) 0.84 0.03 0.07
[1-5-4] 27 FF—PCBD 9 H 2 344,5-X 4 7ant 7 =)L (#123) tr(0.02) 0.02 0.06
[1-5-51 275 F—PCBD H 5 33445 Fr7uu”7 =)L (#126) nd 0.01 0.03
[1-6] ~F¥H 7 on b7 =/l 3.6 0.05 0.13
[1-6-11 275 F—PCBD > H 233 445-~FHF/ont 7=/ (#156) 0.08 0.02 0.06
[1-6-2] 27 FF—PCBD 9 2,33 445 -~FH 7ot~ =)L (#157) tr(0.02) 0.01 0.03
[1-6-3] 275 F—PCBD H 5 2,3 44,55-~F7un 7=/ #167) tr(0.03) 0.02 0.06
[1-6-4] 27 FF—PCBD 9 33 44,55 -~FH 7ot =)L (#169) nd 0.02 0.04
-] ~FH 7T ==V 0.71 0.08 0.21
[1-7-11 275 F—PCBD 5 5 2233 44,5-~TF /a7 ==/l (#170) 0.07 0.03 0.07
[1-7-2) 277 F—PCBD H 5 22 344,55-~7TH7aua 7=/l (#180) 0.17 0.03 0.08
[1-7-3] 275 F—PCBD 5 5 233 44,55-~7Fr/unu b7 x=/L (#189) nd 0.02 0.05
181 A2 %7t ==L nd 0.09 0.23
[19] /FZ7mub 7 ==/ nd 0.04 0.10
[1-10] FhZ o7 ==L nd 0.02 0.06
[2]HCB (~FH 27X Ey) 91 0.1 0.4
[15] ~v 7 VA a2y 2o AR (PFOS) 6.6 0.2 0.5
[16] ~v 7 A vaA s 2 @ (PFOA) 14 0.2 0.5
R L e 56 0.08 0.21
RI]~FH o7 H-13-Dx 3,100 | 3,400 | 3,000 20 50
[23] PR N T 7 4 tr(900) X600 %1,700
[23-11 ¥/ LT 1 38 280 40 140
[23-2] iRk o 7 tr(380) 190 550
[23-3] ¥R/ b K7 V38 tr(230) 210 630
[23-4] ¥z b b U T U HH nd 130 400
[25] ~v 7 VA m o~ 2Lk g (PFHXS) 4.4 0.2 0.5
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